Miércoles, 27 de mayo
P4ag. 100, 7ayc

a) (x+])2+(x—2)2 =(x+2)2+(x—])2
X A2x+ 1+ X" —4dx4+4=x"+4x+4+x" -2x+1
2x° =2x+5=2x"4+2x+5
2x° =2x+5-2x"-2x-5=0
—4x=0
0

x=—4=0 Solucion: x=0

2 2
o) x+3+(x—1) _X +1
5 4 4
min.cmi{S4}=20

4x+3)+5(x-17  s(x*+1)
20 20

 Ax+12+5(x —2x+1)=5x"+5 4x+12+5x —10x+5=5x"+5

-12

S5x2=6x+17=5x*+5, 5x’=6x+17-5x>=-5=0; —-6x+12=0; —6x=-12; x= .

2

Solucion: x=2

18
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_ —5+5
a2 5tV —4.2.0 —s5+5 [T T4 T
2x°+5x=0<b=5 x= — = — =
2-2 4 -5-5
CZO _X‘Z: 4 =
Soluciones: x,=0 y x,=—
11)
a) (x=-3Hx+3)+(x—-4D(x+4)=25
x -3 x —4
* x +3 * x +4
+3x -9 +4x —16
x> =3x x> —4x
x’ -9 x’ —-16
a=2
X =94+x°—16=25; 2x*=25=25; 2x*=25-25=0; 2x*-50=0{b=0
c=-50
_20_¢
—0+J0°=4.2-(=50) +20 [T 4"
x: = =
2.2 4 x2=‘_20=_5
4

Soluciones: x,=5 'y x,=-5



13
a) (2x-3)7-19=3x(x-5)

2x -3
* 2x -3
—6x +9

4x°  —6x

4x° —12x +9

4x? —12x+9-19=3x>—15x; 4x*—12x—-10=3x"—15x; 4x’ —12x—10-3x*+15x=0;

a=1 _—3+7:

_ 2 4.7 (- _ Wi 2
P +3x-10=0{b=3 (o TIENT A 10) _ —3%7 2
2-1 2 -3-7
C=—]0 x2:—:—5
2
Soluciones: x,=2 'y x,=-5
Pag. 101,
15
5
2x—5=0; 2x=5;, x=—
a) 2x-5(x+7)=0 2
x+7=0;, x=-7
: 5
Soluciones: x=— 'y x=-7
—1
5 3x+1=0; 3x=-1, x=—
d) Gx+ID) (¥ +x-2)=0 3
X’ +x-2=0
—1+3
a=1 X, = =]
—1+\IP—-4-1-(-2) -1+ !
X’ +x-2=0{b=1 x= \/ ( ): ]_3: 2
2-1 2 —-1-3
== T R

Soluciones: x,=1, x,=-2 'y x;=—

16ay 17b
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